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Solving Sequence

Ideals for irreducible component#ﬂ)f Xpar

I = (2.01404 x 10M8% — 4.78501 x 10™83* + ... 4 1.28887 x 10'®b — 6.30993 x 10'7,
1.95116 x 10%43° — 6.14010 x 10" %u3* + -+ + 1.41776 x 10'%a + 2.81287 x 10*®, u®6 —3u® + ... 4+ 3u? +

* 1 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(2.01x 108435 —
6.14 x 1019434 + ...

(i) Arc colorings
(+)

)

)
)

—1.37623u3% + 4.33085u34 + -
1.56264u3° + 3.71256u34 + -

—u?+1

ut — 2u?
1.25056u3° + 3.87415u3* + -
1.35969u53% + 3.19917u34 + -

0.109127u3% + 0.674985u3* + -
1.35969u3° + 3.19917u3* + -

0.498455u3° + 1.46595u3* + -

aq =

a7 =

ag =

a5 =

ag =

asz =

ag =

aip =

I. If =
4.79%x1018y34 .. . 4+1.29%x10'8—6.31x 107, 1.95%x10'%u35 —
+1.42 x 10'%a + 2.81 x 1018, 436

—3ud5 4+ ... +3u?+1)

— 3.87762u — 0.198403
— 0.845601u + 0.489570

-+ 0.648916w + 0.386431
— 4.33466u — O.343965>

— 3.68575u + 0.0424660>

-+ 0.648916w + 0.386431

(o
(-
(-
a- (0
(
C
(¢
(-

— 0.488164u — 0.513350
—0.561499u35 4 1.29302u + - -+ — 1.92515u + 0.154877

—0.126393u3% — 0.0468796u>* + - - - — 0.938532u + 0.697640
ag = \ —0.0671172u3% + 0.329351u3% + - - - — 1.55309u — 0.241770

(ii) Obstruction class = —1

58911071591979655120 35+ 138393380035194827072 34+ -

4]94512 1%%%’5%3173%(%%%769 14177581577372014769

14177581577372014769

(iii) Cusp Shapes =
178473388351458886120
14177581577372014769




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w3 11 - —6u+ 1
€2 u3® — 15u®% + ... — 172u + 43
c3,C10 W - —1du+1
C4,C7,C8 w3+ 430+ 1
& w3 —3u . —du+1
Cp, Cy w3 Fu 4 30 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y*0 —151y%° + ... — 50y + 1
C2 Y30 — 127y 4 . 4 24510y + 1849
€3, C10 Y30 — 23y .. 134y + 1
C4,C7,C8 y? —35y% + .. + 6y + 1
Cs y36_3y35+_46y+1
€6, Co Yo =27y 46y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

uw= 0.374032 + 0.9140661
a = —0.115745 + 1.0644501

b= 0.39274 + 1.617741

—0.97788 4 3.679221

0.14859 — 9.076491

uw= 0.374032 — 0.9140661
a = —0.115745 — 1.0644501
b= 0.39274 — 1.617741

—0.97788 — 3.679221

0.14859 + 9.076491

u = —0.482693 + 0.8375281
a= 0.27444 + 1.433361
b= —0.48043 + 1.779371

—6.25192 — 9.331471

—3.94994 + 7.247991

u = —0.482693 — 0.8375281
a= 0.27444 — 1.433361
b= —0.48043 — 1.779371

—6.25192 + 9.331471

—3.94994 — 7.247991

u = —0.682211 + 0.8174161
a= 0.932948 + 0.7006271
b= —0.21456 + 1.435561

—5.71207 + 3.850491

—4.56018 — 4.430011

u = —0.682211 — 0.8174161
a= 0.932948 — 0.7006271
b= —0.21456 — 1.435561

—5.71207 — 3.850491

—4.56018 + 4.430011

u= 1.24034
a= 1.44030
b= —0.439862

—2.81937

—4.82430

u = —1.326560 + 0.1410591
a = —0.897495 — 0.8229851
b= 0.382546 — 1.2683001

—1.18988 — 4.203571

—3.06671 + 5.284531

u = —1.326560 — 0.1410591
a = —0.897495 + 0.8229851
b= 0.382546 + 1.2683001

—1.18988 + 4.203571

—3.06671 — 5.284531

u = —0.399963 + 0.5253701
a= 1.08446 — 1.083721
b= 0.289305 + 0.0322831

—1.74249 — 4.240431

—1.82805 + 7.428031




Solutions to I}

V=1I(vol + /=1CS)

Cusp shape

u = —0.399963 — 0.5253701
a= 1.08446 + 1.083721
b= 10.289305 — 0.0322831

—1.74249 + 4.240431

—1.82805 — 7.428031

u= 0.545615+ 0.3714071
a = —0.622878 — 0.3601631
b= 0.204444 + 0.2690011

1.145860 + 0.7157571

6.11111 — 2.291851

u = 0.545615 — 0.3714071
a = —0.622878 4 0.3601631
b= 0.204444 — 0.2690017

1.145860 — 0.7157571

6.11111 4 2.291851

u = —1.34346
a = —0.912003
b= 2.41867

1.82908

7.56320

u = 1.370890 + 0.0906281
a= 0.660532 — 0.4218891
b= —0.39300 — 1.732011

3.05261 4 2.199421

3.77042 — 2.935921

u= 1370890 — 0.0906281
a= 0.660532 + 0.4218891
b = —0.39300 4 1.732011

3.056261 — 2.1994271

3.77042 4 2.935921

u = —1.39633

a = —0.729782 1.61132 108.030

b= 12.3968
u= 1.46569

a = —0.0582965 3.38902 0
b= 1.01413

u= 0.120769 + 0.5187091
a = —0.34492 — 2.825017
—0.141050 — 1.0486101

S
I

—5.66880 + 1.843161

—9.44552 — 3.919157

U 0.120769 — 0.5187091
a = —0.34492 + 2.825011
b = —0.141050 + 1.0486101

—5.66880 — 1.843161

—9.44552 4 3.919151




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 1.45659 + 0.187461
= —0.183193 — 0.8800251
—0.350456 — 0.6143581

4.26834 + 6.860071

1.45659 — 0.187461
= —0.183193 + 0.8800251
—0.350456 + 0.6143581

4.26834 — 6.860071

1.40740 + 0.444401
= —0.547365 + 0.3319921
1.19130 + 1.156581

2.04431 4 1.840681

1.40740 — 0.444401
—0.547365 — 0.3319921
1.19130 — 1.156581

2.04431 — 1.840681

—0.306066 + 0.4249511
= —0.816894 + 0.2029831
—0.749449 + 0.4841121

—1.81388 + 1.134671

—1.97456 + 1.070011

—0.306066 — 0.4249511
—0.816894 — 0.2029831
—0.749449 — 0.4841121

—1.81388 — 1.134671

—1.97456 — 1.070011

—1.49125 4 0.157721
0.263366 — 0.5755611
0.010884 — 0.3818961

7.75318 — 2.837461

—1.49125 — 0.157721
0.263366 + 0.5755611
0.010884 + 0.3818961

7.75318 + 2.837461

—1.49131 + 0.321491
0.669876 + 0.5070971
—1.25550 4 1.581801

5.07523 — 8.063011

= —1.49131 — 0.321491
= 0.669876 — 0.5070971
= —1.25550 — 1.581801

> Q@ €| & €| & €| & €| & &> & 8| & 8|l & 8|l & 8| & &g
Il

5.07523 4 8.063011




Solutions to I Vv—1(vol + +/—1CS) Cusp shape

u = 1.51652 + 0.303901

a = —0.792548 + 0.5677401 0.21259 + 13.487001 0
b= 1.12600 + 1.821981

u= 151652 — 0.303901

a = —0.792548 — 0.5677401 0.21259 — 13.487001 0
b= 1.12600 — 1.821981
= 0.408894
a= 2.87090 —3.87788 10.5720
b= 1.71340
u = —0.149951 + 0.3424351
a = —0.63819 — 2.594701 —1.76218 — 0.650741 | —4.85797 — 0.859681

b= —0.423633 — 1.0314801
u = —0.149951 — 0.3424351

a = —0.63819 + 2.594701 —1.76218 + 0.650741 | —4.85797 4 0.859681
b= —0.423633 + 1.0314807

w= 170127

a = —0.463910 3.00176 0

b= 0.718631




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 ud® + 110 - — 6u+ 1
C2 ud® — 15u® 4 — 172u + 43
c3,C10 u — w4+~ du+ 1
C4,C7,C8 w3 —3u® -+ 3u2+ 1
5 w3 —3uP o —du+1
C6, Co w4 3?1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 y* — 151y%° + ... — 50y + 1
c2 Y30 — 127y% + .- + 24510y + 1849
€3, 10 y30 —23y%° .. — 134y +1
C4,C7,C8 y3® —35y%° + .. + 6y + 1
Cs ¥ — 3y 4. 46y + 1
C6, Cy Y2 —27y® .+ 6y + 1

10



